

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra), Jogeshwari (E) - 400060



University of Mumbai Transfer Certificate

PRN:

2017016402191443

Transfer Certificate Code: AFDKAIBKBJAGKAJBABDA

Transfer Certificate Number: 2017227324



CERTIFIED that Shri/ Kumari/ Smt. JHA DEEPAK YOGENDRA has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

 After Passing the B.M.S. Examination in the year 2020-2021, He has kept terms in the college as under;

to October June..... (.....days) November..... to March (.....days) to October June..... (.....days) November..... to March (.....days)

- Hewould have been in the class if He had continued in this college.
- HePassed/ Failed/ ATKT at the T.Y.B.M.S. Regular Rev16 Examination held in (March/October) 2020-2021.
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- His conduct and character are good.
- His Date of Birth in college register is 18 Jul 1998
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects :-
- He has satisfactorily carried out the practical work in Faculty of Commerce
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC.
- He belongs to Category: Open as per record.

Date:

Forward with compliments to the Principal/Registrar_

Principal

Govt. of Maharashtras Ismail Masuf College of Arts, Science and Commercent of Maharashtra's

Entered By :-

Checked by Science & Commerce.

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.



Deepak Yogerdon Jha
B/104 Posh Complex,
Hotkesh, Mira Road (E).
Thorne - 401107.
Mobile no. - 9699555960
Date: 12th November, 2021.

The Poincipal Is mail Yuguf College,

● Jogephwari (E). Mumbai - 400060.

Subject: Tourfor Certificate.

Respected Madam,

I was student of your college, completed my graduotion in the year 2021, from Backeter in Management

Andies (BMS). I am currently personing my Masters in Sports Management (MSM) from International Institute of Sports Management (11SM), Andheri (E).

So I request you grant my Formsfer Certificate (TC), so that I can provide in my present institute.

Yours firthful,



Deepak. Y. Tha

UNIVERSITY OF MUMBAI



3/12/16/4

GARWARE INSTITUTE OF CAREER EDUCATION AND DEVELOPMENT



APPLICATION FOR TRANSFER CERTIFICATE

	DEEPAK	YOGENDRA	SEEMA
(Surname)	(Name)	(Father's Name)	(Mother's Name)
Residential address of the student: 8	1104 Posh	Complex,	Hatkesh,
Never Handa Service	Center, M.	irea Road (E.)	.Thane - 401107
To,	Description		
The Principal / Director / Head of the (Graduation College / Institution deta			
Ismail Yusuf College,			of state of
Jogeshwari (E),		- spelle	2) faul lion 2
Mumbai - 400060.			: 3) wowdrot
Sir / Madam,		v V	1007 = 100 M
This is to state that I am see	king admission to	the Master / Bachel	or course in Sports
Management in the Garware Institut	e of Career Educa	tion and Developmer	nt. I request you to
send my transfer certificate to the	e Director, Garw	are Institute of Car	eer Education and
Development, University of Mumbai	, Kalina Campus, S	Santacruz (E), Mumb	ai – 400 098.
I attended the BMS	5	course (Div	Roll No.
) during the	term/s of	in your	college / Institute /
Department and passed/ failed at the		by the University in	April / October, of
202](Exam Seat No. 2247 068) Crus	reladond.	100 3/17 (4/5/10)
I properly by	vio home		ours faithfully
a for E		amailion	Dits M str
		The state of the s	D.JS
Director	MI Ruth	Sti	ide nt's Signatur e)
(39 Jan H. A. (1	cut here	T.	ISM * No
1. Name of the Student: Dec		gendra Ju	1 T 1.1 1 00
2. Admitted to (GICED & Course		Intermation	al Institute of
3. Please send this counterpart a	long with Transfer	Certificate. Spor	ts Management.
Service Servic	V they be	(USM)
VAN SOL			7





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , MUMBAI-400060

Date: 12-Nov-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUI0569510
Category	BONAFIED NOC AND T C FEES
FIRST NAME	DEEPAK
MIDDLE NAME	YOGENDRA
LAST NAME	JHA
DATE OF BIRTH	18/7/1998
GENDER	MALE
CATEGORY	GENERAL
MOBILE NO	9699555960
COURSE	TY BMS
BONAFIED FEES, NOC FEES, T C FEES	100
Transaction charge	0.00
Total Amount (In Figures)	100.00
Total Amount (In Words)	Rupees One Hundred Only
Remarks	BONAFIED FEES, NOC FEES, T C FEES
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE





University of Mumbai

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD



Student Id 393759

PROGRAMME	: BACHELOR OF M	ANAGEMENT STUDIES (BMS)							SEMES	TER: II	*
PRN	/Reg. No.	Examination Seat No.	Name of the Learner						Month & Year of ⊕xamination		
20170	16402191443	I - BMS 2007		JHA	DEEPAK YOGEN	NDRA SEEMA		ATKT OCTOBER2019(10		.00)	
Course			Course		Credits	Grade	€G=	SGPI=			
Code	Course Title			Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	£x G	ΣCG /
UBMSFSII.1	PRINCIPLES OF N	MARKETING		3.00	D\$	0\$	В	3.00	6	18.00	
UBMSFSII.2	INDUSTRIAL LAW		3.00	D\$	As	С	3.00	5	15.00	1	
UBMSFSII.3	BUSINESS MATH	EMATICS	LA !	3.00	В	A\$	B+	3.00	7	21.00	
UBMSFSII.4	BUSINESS COMM	UNICATION - II		3.00	B+\$	/ A\$	B+	3.00	7	21.00	5.85
UBMSFSII.5	FOUNDATION CO	URSE - II		2.00	C\$	A+s	В	2.00	6	12.00	5.00
UBMSFSII.6	BUSINESS ENVIR	ONMENT	AV	3.00	/ cs	D\$	D	3.00	4	12.00	SCSE.
UBMSFSII.7	PRINCIPLES OF M	MANAGEMENT	TAN.	3.00	D\$	CA+s	В	3.00	6	18.00	
Remarks :	SUCCESSFUL		The state of the s	/20.00	15	arned Credi	ts : 20.00	.		2CG= 117.00	SGPI= 5.85
SE Credits Earned =	MESTER I 20.00 SGPI = 5.	SEMESTER II 25 Credits Earned = 20.00 Se	GPI = 5.85 Cr	H FERRY	MESTER III	I = Credits Ea	SEMESTER IV	SGPI =	Overall	Grade =	С

Place: Mumbai

Date: 24/10/2019

Checked By:

Chairperson, Exam. Committee

Seal of theCollege

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060





Student Id 393759

		ANAGEMENT STUDIES (BMS)							SEMES	TER: III				
PKN	I/Reg. No.	Reg. No. Examination Seat No.			Name of the Learner					Month & Year of Examination				
20170:	16402191443	BMS 3002		ЈНА	DEEPAK YOGEN	DRA SEEMA		ATKT OCTOBER 2019			e sox empressive			
Course Code	Course Title			Course		Grade		Credits Earned (C)	Grade Points (G)	CG=	SGPI=			
UBMSFSIII.1	Business Planning			Credits	TH/PR	IA	OVERALL							
UBMSFSIII.2	Business Planning & Entreprereurial Management Accounting for Managerial Decisions Stategic Management		- P	3.00	C\$	0\$	B+	3.00	7	21.00				
UBMSFSIII.3			MIL	3.00	D	D\$	D	3.00	4	12.00	-			
UBMSFSIII.4		logy in Business Management-I		3.00	D\$	/ D\$	D	3.00	4	12.00				
JBMSFSIII.5	Consumer Behavio			3.00	D\$	A+\$	С	3.00	5	15.00	5.1			
UBMSFSIII.6	Advertising	ui ,		3.00	D\$	B+\$	С	3.00	5	15.00	5.1			
JBMSFSIII.7		/F		3.00	C\$	A\$	В	3.00	6	18.00				
05/13/13/11.7	radioalion Course	(Environmental Management) - III		2.00	C\$	C\$	С	2.00	5	10.00				
	UCCESSFUL			20.00	E	arned Credit	ts : 20.00			ΣCG=	SGPI			
SEN edits Earned = 2	MESTER I 20.00 SGPI = 5.2	SEMESTER II 5 Credits Earned = 20.00 SG	GPI = 5.85 Credi		MESTER III	5.15 Credits Ea	SEMESTER IV		Overall	103.00 Grade =	5.15			

Place: Mumbai

Date: 27/11/2019

Checked By:

myshoul

Chairperson, Exam. Committee



Seal of the College

Statestal

Principal



University of Mumbai

ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMEAI - 400 060

GRADE CARD

Student Id 383759

PROGRAMME	: BACHELOR OF M	ANAGEMENT STUDIES (BMS)							SEMEST	TER : IV		
PRN	RN/Reg. No. Examination Seat No.			Name of the Learner					Month & Year of Examination			
201701	6402191443	BMS 4006		JHA	DEEPAK YOGE	NDRA SEEMA		АТК	(T OCTOBER 2019(10		00)	
Course		Course Grade		ade		Grade	CG=	SGPI=				
Code	Code Course Title			Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /	
UBMSFSIV.1	Integrated Marketing Communication			3.00	B\$	A\$	B+	3.00	7	21.00		
UBMSFSIV.2	Event Marketing		3.00	C\$	As	В	3.00	6	18.00			
UBMSFSIV.3	Information Technology in Business Management-II		3.00	C\$	A+\$	В	3.00	6	18.00			
UBMSFSIV.4	Foundation Course (Ethics & Governance) - IV			2.00	В	A\$	B+	2.00	7	14.00	5.65	
UBMSFSIV.5	Managerial Econor	nics- II		3.00	D\$	D\$	D	3.00	4	12.00	3.00	
UBMSFSIV.6	Business Research	Methods	AV	3.00	C\$	AS	В	3.00	6	18.00		
UBMSFSIV.7	Production & Total quality Management			3.00	D\$	Ds	D	3.00	4	12.00		
Remarks : S	SUCCESSFUL		The state of the s	20.00		Earned Credit			l	ΣCG= 113.00	SGPI= 5.65	
SEI redits Earned =	MESTER I (1) 20.00 SGPI = 5.	SEMESTER II 25 Credits Earned = 20.00 SG	GPI = 5.85 Cr	NA SECTION	MESTER III = 20.00 SGPI	= 5.15 Credits Ear	SEMESTER IV	SEPI = 5.65	Overall	Grade =	С	

सा विद्या या विस्वत्ये

Place : Mumbai

Date: 24/10/2019

Offecked By:

Chairperson, Exam. Committee

Seal of the Cdlege

Principal

10.040 10.000 **1**0.000

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade tableat the back)



University of Mumbai **GRADE CARD**

CCF:86:0012

: JHA DEEPAK YOGENDRA SEEMA

Examination : BACHELOR OF MANAGEMENT STUDIES (SEM-V)(CBCGS) (CHOICE BASED CREDIT, GRADING AND SEMESTER SYSTEM)

Held In

: DECEMBER 2020

Seat Number : 1157576 (PRN:2017016402191443)



Course Code	Course Title		Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	MARKETING						ST-MENDOMENTA.		
46004	SERVICES	TH	75	30	49				
	MARKETING	TH(INT)	25	10	17				
		TH(TOTAL)	100	40	66	3	Α	8	24.00
46007	E-COMMERCE &	TH	75	30	73				
	DIGITAL MARKETING	TH(INT)	25	10	22				
		TH(TOTAL)	100	40	95	3	0	10	30.00
46010	SALES &	TH Springers	75	30 maintenantes aconsectations	64				
	DISTRIBUTION MANAGEMENT	TH(INT)	25	10	17				
		TH(TOTAL)	100	40	81	3	0	10	30.00
46013	CUSTOMER	TH THE PARTY OF TH	75	30	73				
	RELATION MANAGEMENT	TH(INT)	25	10	20			8	
		TH(TOTAL)	100	100 40 constant	93	3	0	10	30.00
46001	LOGISTICS &	TH	75	30	- 53				
	SUPPLY CHAIN MANAGEMENT	TH(INT)	25	10	18				
		TH(TOTAL)	100	40	71	4	A+	9	36.00
46002	CORPORATE	TH	75	30	43				
	COMMUNICATION & PUBLIC	TH(INT)	25	10	22				
	RELATIONS	TH(TOTAL)	100	40	65	4	Α	8	32.00
	GRAND TOTAL		600		471	20			182.0

Remark: SUCCESSFUL

SGPI: 9.10

Result Declared On: FEBRUARY 12, 2021

DIRECTOR

BOARD OF EXAMINATIONS AND EVALUATION





University of Mumbai **GRADE CARD**

CCF:86:0011

Name

: JHA DEEPAK YOGENDRA SEEMA

: BACHELOR OF MANAGEMENT STUDIES (SEM-VI)(CBCGS) (CHOICE BASED CREDIT, GRADING AND SEMESTER SYSTEM)

Held In

: APRIL 2021

Seat Number : 2247068 (PRN:2017016402191443)



Course Code	Course Title		Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	MARKETING								
86003	BRAND	TH	75	30	45		and the AAA	e estados esta	
	MANAGEMENT	TH(INT)	25	10	25	and the second		Points	and Page 1
		TH(TOTAL)	100	40	70	3	A+	9	27.00
86006	RETAIL	TH	75	30	63			e salati	
	MANAGEMENT	TH(INT)	25	10	24		ed service de ed l'encongresse	and the state of t	
		TH(TOTAL)	100	40	87	3	0	10	30.00
86009	INTERNATIONAL	TH STATE OF THE PARTY OF THE PA	75	30	50	Carlotte (Carlotte)	4.44		
	MARKETING	TH(INT)	25	10	24	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		et a egundus de la companya de la c La companya de la co	
		TH(TOTAL)	100	40	74	3	A+	9	27.00
86012	MEDIA PLANNING	TH	75	30	47		and the		
	& MANAGEMENT	TH(INT)_	25	10	24				
		TH(TOTAL)	100	40	71	3	A+	9	27.00
86001	OPERATION	TH	75	30	56		i i i i i i i i i i i i i i i i i i i		
	RESEARCH	TH(INT)	25	10	-16				
		TH(TOTAL)	100	40	72	4	A+	9	36.00
UBMSFSVI.5	PROJECT WORK	PROJ.	75	30	60			ere e propiet	
		INT	25	10	18		er verter e	6	s in Addition
	7.0 s 3.0 7.0 s 3.0 7.1 s 3.0 s 3.0	TOTAL	100	40	78@2	4	o		40.00
	GRAND TOTAL	Andrew College	600	A SAME AND	452@2	20	e de la lace	Allies Andrews	187.00

Sem. I CRED.: 20 SGPI: 5.25 Sem. IV CRED .: 20 SGPI: 5.65 Sem. II CRED.: 20 SGPI: 5.25 Sem. V CRED.: 20 SGPI: 9.10

Sem. III CRED.: 20 SGPI: 5.15 Sem. VI CRED.: 20 SGPI: 9.35

Remark : SUCCESSFUL

CGPI: 6.63

Result Declared On: JULY 13, 2021

BOARD OF EXAMINATIONS AND EVALUATION